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From the graph x>0 so C cuts the x-axis at
x=1.
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Challenge
x?—7x+10=0
(x=2)(x-5)=0=>x=20rx=5

So the x coordinates of the points where the
curve touches the x-axis are 2 and 5.

Splitting the region into 3 sections,

R, R, and R,
R forl<x<2

R, for2<x <5
R, for5<x <6

Volume V, is generated by R, etc.
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V, =V, using the symmetry of the curve.

47 , 81, 47
So total volume generated = ”(10 +1ot 10)

_175
0"

=35

© Pearson Education Ltd 2017. Copying permitted for purchasing institution only. This material is not copyright free. 3



